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RS485 communication Default parameters: 9600,n,8,1 

Default device address is 1 

Modbus RTU protocol 

1. Parameter register map 

Function code: 03H (read), 06H (write) 

Address 

(hex) 

Byte 

order 

Meaning 

 

Description Property 

10 LO Communication 

parameters 

  

  

initial value: 00 

BIT<7:5> reserve 

BIT<4:3> 00=none 01=even 10=odd （11= odd） 

BIT<2:0> 

000=9600    001=1200    010=2400    011=4800    100=9600 

101=14400   110=19200   

RW 

Hi address 

initial value: 01 

1-250 RW 

 

Set slave ID 

E.g., set slave ID=2, baud=9600, parity=none, 

Master sends 

Address 
 

Function 
Code 

 

Start 
Address 

(Hi) 
 

Start 
Address 

(Lo) 
 

ID  baud and  
parity 

Error 
Check 
(Lo) 

 

Error 
Check 

(Hi) 
 

0x01 0x06 0x00 0x10 0x02  0x04 0x88 0xAC 

 

ID=02 (HEX) = 2 (DEC) 

Band and parity=0000 0100 (BIN) = 04 (HEX) 

 

Sensor responds: 

Address 
 

Function 
Code 

 

Start 
Address 

(Hi) 

Start 
Address 

(Lo) 

ID  baud and  
parity 

Error 
Check 
(Lo) 

Error 
Check 

(Hi) 

0x01 0x06 0x00 0x10 0x02  0x04 0x88 0xAC 

 

Enquiry slave ID, baud and parity 

Master sends 

Address 
 

Function 
Code 

 

Start 
Address 

(Hi) 
 

Start 
Address 

(Lo) 
 

Number 
of 

Points 
(Hi) 

Number 
of 

Points 
(Lo) 

Error 
Check 
(Lo) 

 

Error 
Check 

(Hi) 
 

0x00 0x03 0x00 0x10 0x00 0x01 0x84 0x11 

 



深圳市盈科互动科技有限公司 CWT CO., LIMITED  

TEL：+86-755-26719954 ｜ www.comwintop.com  

Page: 2                                                                                                                                     
Version: V1.0 
 

Sensor responds: 

Address 
 

Function 
Code 

 

Number 
of 

Points 

ID baud and  
parity 

Error 
Check 
(Lo) 

Error 
Check 

(Hi) 

0x01 0x03 0x02 0x01  0x0B 0xF8 0x13 

ID=01 (HEX) = 1 (DEC) 

baud and parity =0B (HEX) = 0000 1011 (BIN) 

so baud = 011 = 4800, parity = 01 = even 

 

Set id by Modbus poll 

1. Read Parameter register (address = 10 Hex = 16 ) 

 

 

2. E.g., Set id=2, baud=9600, parity=none (corresponding value= 02 04 H = 516) 

Double click register value, enter 516 and click send 

 


